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Rechne in die Einheit beim Ergebnis um.


1) a) 18 m 		= 1800 cm			b) 55900 dm = 5,5900 km

2) a) 90,3 dm 	= 9030 mm			b) 37300 dm = 3,7300 km

3) a) 491 dm 	= 49100 mm		b) 56,5 km = 565000 dm

4) a) 604 m 		= 60400 cm		b) 216000 dm = 21,600 km 

5) a) 9100 mm 	= 91 dm			b) 23700 dm = 2,3700 km

6) a) 49200 mm 	= 492 dm			b) 166 dm = 16600 mm

7) a) 682000 dm 	= 68,2000 km		b) 20700 dm = 2,0700 km

8) a) 422 dm 	= 42200 mm		b) 2700 mm = 27 dm

9) a) 83700 mm 	= 837 dm			b) 59600 mm = 596 dm

10) a) 488000 dm = 48,8000 km		b) 9190 cm = 91,90 m

11) a) 542000 dm = 54,2000 km		b) 94,1 dm = 9410 mm

12) a) 530000 dm = 53,000 km			b) 74600 mm = 746 dm

13) a) 627000 dm = 62,7000 km 		b) 794 m = 79400 cm

14) a) 23300 mm 	= 233 dm			b) 7,88 km = 78800 dm

15) a) 80300 cm 	= 803 m			b) 26200 mm = 262 dm
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